	Revelry Event Designers	IN-0005809 Levine Fox Events 4208 klump avenue Studio city, CA 91602				
K	3604 Medford St. Los Angeles, CA 90063 (323) 263-1657					
	0 AM Delivery Saturday 0 PM Event	PO: Shipping Address: Beverly Hills Hotel		Invoice Date: Due Date: Upon Salesperson: A	-	
Description	0 Alvi Strike		Qtty	Price	nyeia r	Total
General			Qity	The		Total
	Truss Covers w. Velcro 12" x 12" x 14'H pink suede		2	\$115.00	Т	\$230.00
				Total Gene	eral	\$230.00
Cocktails (Food	Station)					
	Chandelier Drape - Sheer Pir	ık	1	\$1,775.00	Т	\$1,775.00
	Pedestals - Round 30"x 38"h (1) Light Pink (1) Green and Pink Stripe 30" Diam x 38"H - Color Change Up		2	\$375.00	Т	\$750.00
	Pedestals - Round 36" X 36" (1) Light Pink (1) Green and Pink Stripe 36"Diam x 36"H - Color Change Upd		2	\$450.00	Т	\$900.00
	Pedestals - Round 40" X 32" (1) Light Pink (1) Green and Pink Stripe 40" Diam x 32"H - Color Change Up		2	\$500.00	Т	\$1,000.00
	Pedestals - Round 48"x 40"h (1) Green 48"x 40"h - Color Change Upon Rec		1	\$575.00	Т	\$575.00
	Shelving Unit Cubby - Large white 59"W x 16"L X 59"H - 13" X 13" X 16 Upon Request	" FOR EACH CUBE - Custom Color	4	\$250.00	Т	\$1,000.00
			Total Cocl	ctails (Food Statio	on)	\$6,000.00
Main Ballroom						
	Dj Fronts - Beverly Hills Pink 78⤠¤ ₩52⤠¤ ₽48⤠¤ H	Channeled	1	\$450.00	Т	\$450.00
-	Perimeter Drape - Pink Sued	le (pleated)	1	\$16,650.00	Т	\$16,650.00
	Perimeter Valance - Pink Su	ede	1	\$3,350.00	Т	\$3,350.00

Description		Qtty	Price		Total
	Stage Fronts - Bora Bora - Light Pink w. Wallpaper 6'W x 12"L x 20"H	4	\$650.00	Т	\$2,600.00
	Store Facade - Starbucks 10' x 10' with 'window' for service WITH Ledge Pink and white stripe 4"	1	\$3,500.00	Т	\$3,500.00
	Round Metal Awning - Covered in Pink Suede w. Scallop Valance for the starbucks wall	1	\$0.00	Т	\$0.00
	Bora Bora Bar (4pcs) - Light pink Frame w. Wallpaper Inserts (2) corner pieces and (2) straight center pieces	1	\$2,850.00	Т	\$2,850.00
	Curved Alcove Barback w. Shelves Frame in light pink with custom decal insert for the main bar 22'W x 18"L x 10'H	1	\$6,500.00	Т	\$6,500.00
	Sconces - Lyon - Gold Leaf for the main bar 21"W x 35"H - 50 Watts	3	\$95.00	Т	\$285.00
	New York Bar 6'L - Decal Front Frame in light pink with custom decal fronts and sides 6'W x 31"L x 42"H - Color Change Upon Request	2	\$950.00	Т	\$1,900.00
	Curved Alcove Barback w. Shelves Frame in light pink with custom decal insert for the merch station	2	\$1,875.00	Т	\$3,750.00
	Flat Panel 5'W x 10'H with Shelves painted pink with (2) shelves **See drawing for more detail	1	\$0.00	т	\$0.00
	Sconces - Brushed Gold Square 8.26"W x 23.7"H - LED Battery Operated	2	\$50.00	Т	\$100.00
P	Beirut Curvy Sofa - Off White Velvet 102"W x 32"D x 26"H	4	\$500.00	Т	\$2,000.00
	Coffee Tables - Montreal Gold Leaf Rectangular 4'W x 2'L x 18"H	4	\$250.00	Т	\$1,000.00
	Accent Table - Savannah - 3pc Set (S) 12"W x 19"H, (M) 15"W x 23"H, (L) 18"W x 26"H	2	\$150.00	Т	\$300.00
	Beirut Club Chair - Blush Velvet 30"W x 32"D x 27"H	8	\$250.00	T	\$2,000.00

Description		Qtty	Price		Total
	Ottoman Pod 18"D 18"RND x 17"H - Cover Color Upon Request	16	\$50.00	Т	\$800.00
	Monaco Round Booth - White Velvet (2pc) 6⤠¤ 10"₩3⤠¤ 2"Ł3⤠¤ 3"H	8	\$650.00	Т	\$5,200.00
	Coffee Tables - Gold Loop 40⤠® Diam 19⤠M	4	\$300.00	Т	\$1,200.00
	Coffee Tables - Nesting Tables - Gold (1Pc) Large table only 42"Diam x 18"H - 31.25" Diam x 16"H - Can be custom painted upon request	4	\$225.00	Т	\$900.00
	Beirut Ottoman - Blush Velvet 20"D x 16"H	16	\$85.00	Т	\$1,360.00
8	Beirut Ottoman - Ivory Velvet 20"D x 16"H	16	\$85.00	Т	\$1,360.00
	Madrid Rounded Sofa - Off White Boucle 94"W x 36"D x 28"H	4	\$500.00	Т	\$2,000.00
	Coffee Tables - Buenos Aires - Acrylic & Gold 40"W x 40"L x 17âl 🛛 H	2	\$250.00	Т	\$500.00
Z	Accent Table - Gold Circles Frame 20"Diam x 22"H	6	\$115.00	Т	\$690.00
	Rome Club Chair - Blush Velvet Channeled 36"W x 35"D x 28"H	8	\$250.00	Т	\$2,000.00
	Ottoman Pod 18"D 18"RND x 17"H - Cover Color Upon Request	6	\$50.00	Т	\$300.00
	Aspen Dining Chair - White Wood 18" X 21" X 32"H	66	\$25.00	Т	\$1,650.00
	Barstools - Monaco White 20⤠© ⤠X 148⤠© ⤠X 47H⤠© â⊮ SEAT DIMENSION 19⤠© â¤x® 20⤠© â⊮ Seat Height 28"	16	\$30.00	Т	\$480.00
	Hard Panel 8' x 8' - TBD Design Client to provide Artwork/Application	2	\$900.00	Т	\$1,800.00

Description	Qtty	Price		Total
Accent Pillows - Stock	50	\$30.00	Т	\$1,500.00
Accent Pillows - Custom	16	\$85.00	Т	\$1,360.00
		Total Main Ballroom		\$70,335.00
Services				
Installers: Install FRiday	8	\$550.00		\$4,400.00
Installers: Install Saturday	8	\$450.00		\$3,600.00
Installers: Strike Sunday	8	\$550.00		\$4,400.00
Trucking: 24'L + Fuel Surcharge	4	\$595.00	Т	\$2,380.00
Manager: Onsite for (2) Days	1	\$1,600.00		\$1,600.00
Manager: Design and Layouts	1	\$1,450.00		\$1,450.00
Custom Artwork: Hand Painted Details	1	\$850.00		\$850.00
Custom Artwork: Printed Decal Materials & Labor	1	\$1,250.00		\$1,250.00
Certificates: Flame Proofing	1	\$750.00		\$750.00
Supplies: Onsite Misc	1	\$650.00		\$650.00

Please make checks payable to Revelry, Inc.	Total Products:	\$76,565.00
Note: Driver to delivering and nick upp all invalues must be new in full	Total Labor/Services/Misc:	\$21,330.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it Notes	Wear & Tear (3.00%):	\$2,296.95
	Packing (3.00%):	\$2,296.95
	Taxes :	\$7,499.78
	Discounts:	(\$0.00)
	Total:	\$109,988.68
	Payments:	(\$0.00)
	Balance:	\$109,988.68